







4

Algebra and solid Exam

Q(13) Find measure of the angle included between the straight line

$$L : \frac{X-3}{\sqrt{2}} = \frac{Y-1}{1} = \frac{-Z-2}{1} \text{ and the plane } \sqrt{2}X - Y - Z + 5 = 0$$

$$\cos \theta = \frac{(\sqrt{2}, 1, 1) \cdot (\sqrt{2}, -1, -1)}{\sqrt{(\sqrt{2})^2 + 1^2 + 1^2} \times \sqrt{(\sqrt{2})^2 + 1^2 + 1^2}} = \frac{2-1-1}{2} = 0$$

$$\therefore \theta = 90^\circ$$

Q(14) Find the standard form and the general form of the equation of the plane passing through point (3, -5, 2) and the vector  $n = (2, 1, 1)$  is normal to the plane.

$$\boxed{n \cdot r = n \cdot A}$$

$$(2, 1, 1) \cdot [(X, Y, Z) - (3, -5, 2)] = 0 \quad \therefore (2, 1, 1) \cdot (X - 3, Y + 5, Z - 2) = 0$$

$$2(X - 3) + 1(Y + 5) + 1(Z - 2) = 0 \quad \therefore 2X - 6 + Y + 5 + Z - 2 = 0$$

$$2X + Y + Z - 3 = 0$$

Q(15) Without expanding the determinant prove:  $\begin{vmatrix} 1 & 4 & 1 \\ 0 & -1 & 2 \\ 4 & 18 & 0 \end{vmatrix} = 0$

$$r_3 + 2r_2 \quad \therefore \begin{vmatrix} 1 & 4 & 1 \\ 0 & -1 & 2 \\ 4 & 16 & 4 \end{vmatrix} \quad \text{take 4 common factor from } r_3$$

$$\therefore 4 \begin{vmatrix} 1 & 4 & 1 \\ 0 & -1 & 2 \\ 4 & 16 & 4 \end{vmatrix} = 4 \begin{vmatrix} 1 & 4 & 1 \\ 0 & -1 & 2 \\ 1 & 4 & 1 \end{vmatrix}$$

Algebra and solid Exam

5

Q(16)

Find the volume of the parallelepiped which three of its adjacent sides are represented by the vectors

$$-12i - 3k, 3j - k \text{ and } 2i + j - 15k$$

$$V = \begin{vmatrix} -12 & 0 & -3 \\ 0 & 3 & -1 \\ 2 & 1 & -15 \end{vmatrix} = 546$$

Q(17) Find the vector form of the equation of the straight line passing through point (3, -1, 0) and the vector (-2, 4, 3) is a direction vector for it.

$$\vec{r} = \text{point} + t (\text{direction vector})$$

① The vector equation:

$$\vec{r} = (3, -1, 0) + t(-2, 4, 3)$$

② Parametric equations:

$$(X, Y, Z) = (3, -1, 0) + t(-2, 4, 3)$$

$$\therefore X = 3 - 2t, Y = -1 + 4t, Z = 0 + 3t$$

③ The Cartesian equation:

$$\therefore t = \frac{X-3}{-2}, t = \frac{Y+1}{4}, t = \frac{Z}{3} \quad \therefore \frac{X-3}{-2} = \frac{Y+1}{4} = \frac{Z}{3}$$

Q(18) Solve the following equations

$X - Y + Z = 2$ ,  $2X + 3Y - Z = 5$ ,  $3X - 5Y + 2Z = -1$  using the multiplicative inverse of the matrix

$$\begin{pmatrix} X \\ Y \\ Z \end{pmatrix} = \frac{1}{11} \begin{pmatrix} -1 & 3 & 2 \\ 7 & 1 & -3 \\ 19 & -2 & -5 \end{pmatrix} \begin{pmatrix} 2 \\ 5 \\ -1 \end{pmatrix} = \begin{pmatrix} 1 \\ 2 \\ 3 \end{pmatrix}$$

Algebra and solid Exam

6

Q(19) If  $Z$  is a complex number , the amplitude of  $(Z + i) = \frac{\pi}{4}$

And the amplitude of  $(Z - 3) = \frac{3\pi}{4}$  find  $Z$  in the algebraic form

$$\text{Let } Z = X + iY \quad \therefore (X + iY + i) = X + i(Y + 1)$$

$$\therefore \tan \theta = \frac{Y+1}{X} = \tan 45^\circ = 1 \quad \therefore X = Y + 1$$

$$\therefore (X + iY - 3) = (X - 3) + iY$$

$$\therefore \frac{Y}{X-3} = \tan 135^\circ = -1 \quad \therefore Y = -X + 3$$

$$\therefore Z = 2 + i$$

Q(20) If the coefficients of the 4<sup>th</sup>, 5<sup>th</sup> and 6<sup>th</sup> term respectively in the expansion of  $(2X + Y)^n$  form an arithmetic sequence find the value of  $n$

$$2 \text{coeff.} T_5 = \text{coeff.} T_4 + \text{coeff.} T_6 \quad \therefore T_5$$

$$\frac{\text{coeff.} T_4}{\text{coeff.} T_5} + \frac{\text{coeff.} T_6}{\text{coeff.} T_5} = 2$$

$$\frac{4}{n-4+1} \times 2 + \frac{n-5+1}{5} \times \frac{1}{2} = 2$$

$$\frac{8}{n-3} + \frac{n-4}{10} = 2$$

$$\therefore n = 19 \text{ or } n = 8$$





